Seminar of I. Vekua Institute of Applied Mathematics REPORTS, Vol. 28, 2002

ON A VIBRATION OF AN ISOTROPIC ELASTIC CUSPED PLATES UNDER ACTION OF AN INCOMPRESSIBLE VISCOUS FLUID

Chinchaladze N.

I. Vekua Institute of Applied Mathematics

Received: 11.12.2002; revised: 25.12.2002

Key words and phrases: Cusped elastic plate, incompressible viscous fluid, solid-fluid interaction, boundary value problems, singular integral equation, vibration

AMS subject classification (1991): 74F10, 74K20

This paper deals with the bending vibration caused by interaction of a viscous fluid with a cusped plate considered in [1] (see this issue). In what follows all references to formulas from [1] will be indicated by the index p, e.i., $(1)_p$.

We consider the interface problem of the interaction of a plate whose projection on $x_3 = 0$ occupies the domain Ω

$$\Omega = \{ (x_1, x_2, x_3) : -\infty < x_1 < \infty, \ 0 < x_2 < l, \ x_3 = 0 \},\$$

and thickness is given by the following equation

$$2h(x_2) = h_0 x_2^{\alpha/3} (l - x_2)^{\beta/3}, \ h_0, \ l \ \alpha, \ \beta = \text{const}, \ h_0, \ l > 0, \ \alpha, \ \beta \ge 0,$$
(1)

and of a flow of the fluid. Let the flow of the fluid be independent of x_1 , parallel to the plane $0x_2x_3$, i.e. $v_1 \equiv 0$, and generating bending of the plate. Let at infinity, for pressure we have

$$p(x_2, x_3, t) \to p_{\infty}(t), \text{ when } |x| \to \infty,$$
 (2)

and let for the velocity components conditions at infinity be

$$v_j(x_2, x_3, t) = O(1), \quad j = 2, 3,$$
(3)

where $v := (v_2, v_3)$ is a velocity vector of the fluid, $p(x_2, x_3, t)$ is a pressure, and $p_{\infty}(t)$ is given functions.

We suppose the fluid occupies the whole space R^3 but the middle plane Ω of the plate.

Let,

$$I := \{ [0, l] \times 0 \},\$$

$$\Omega^f := \{ x_1, x_2, x_3 : x_1 = 0, \ x := (x_2, x_3) \in \mathbb{R}^2 \setminus I \},\$$

$$v_2, \ v_3 \in C^1(\Omega^f) \cap C^1(t > 0).$$

Transmission conditions for $v_j(x_2, x_3, t)$, j = 2, 3, can be written in the following form (compear with [2], [3], [4])

$$v_{2}(x_{2}, 0, t) = 0, \quad x_{2} \in]0, l[, \quad t \ge 0, v_{3}(x_{2}, 0, t) = \frac{\partial w(x_{2}, t)}{\partial t}, \quad x_{2} \in]0, l[, \quad t \ge 0.$$

$$(4)$$

Because of incompressibility we have

div
$$v(x_2, x_3, t) = 0, \ (x_2, x_3) \in \Omega^f, \ t \ge 0,$$
 (5)

and (see e.g., [5], p.5)

$$\sigma_{jk}^{f} = -p\delta_{jk} + \mu \left(\frac{\partial v_j}{\partial x_k} + \frac{\partial v_k}{\partial x_j}\right), \quad j,k = \text{const} = 2,3,\tag{6}$$

where σ_{jk}^{f} is a stress tensor, μ is a coefficient of viscosity, δ_{jk} is Kroneker delta. From (5) and (6) we obtain

$$\sigma_{33}^{f}(x_{2}, x_{3}, t) = -p(x_{2}, x_{3}, t) + 2\mu \frac{\partial v_{3}(x_{2}, x_{3}, t)}{\partial x_{3}}$$
$$= -p(x_{2}, x_{3}, t) - 2\mu \frac{\partial v_{2}(x_{2}, x_{3}, t)}{\partial x_{2}}.$$
(7)

In virtue of (7) and (4) yields

$$\sigma_{33}^{f\ (\pm)}(x_2,0,t) = p^{\pm}(x_2,0,t).$$

Transmission conditions for p, taking into account of smallness of the thickness, we rewrite as follows

$$-p^{+}(x_{2},0,t) + p^{-}(x_{2},0,t) = q_{0}(x_{2},t), \quad x_{2} \in]0, l[.$$
(8)

Let the motion of the fluid be sufficiently slow, i.e., v_j and $v_{j,k}$ (i, k = 2, 3) be so small that linearization of Navier-Stokes equations (see [2], [3], [4]) be admissible. Hence,

$$\frac{\partial v_2}{\partial t} = -\frac{1}{\rho^f} \frac{\partial p}{\partial x_2} + \nu \Delta v_2, +F_2(x_2, x_3, t),$$

$$\frac{\partial v_3}{\partial t} = -\frac{1}{\rho^f} \frac{\partial p}{\partial x_3} + \nu \Delta v_3 + F_3(x_2, x_3, t),$$
where $\nu = \mu/\rho^f$, $\Delta := \frac{\partial^2}{\partial x_2^2} + \frac{\partial^2}{\partial x_3^2}, F := (F_2, F_3)$ is a volume force. Let
$$v_i \in C^2(\Omega^f) \cap C(\mathbb{R}^2) \cap C(t > 0), \quad i = 2, 3;$$

$$p \in C^2(\Omega^f);$$

$$q_{,2}(\cdot, t) \in H([0, l]),$$
(9)

and

$$F_i \in C^2(\Omega^f), \quad i = 2, 3.$$

where H is the class of Hölder continious functions. Let

$$A^{\infty}(t) := \lim_{|x| \to \infty} \int_{0}^{x_{2}} F_{2}(\xi_{2}, x_{3}, t) d\xi_{2},$$

and

$$F_3(x_2, x_3, t)|_{|x| \to \infty} = O(1).$$

After differentiation of the first equation of (9) with respect to x_2 , of the second equation of (9) with respect to x_3 and termwise summation, by virtue of (5), we obtain that $p(x_2, x_3, t)$ is satisfying the following equation

$$\Delta p(x_2, x_3, t) = \left(\frac{\partial F_2}{\partial x_2} + \frac{\partial F_3}{\partial x_3}\right) \rho^f.$$
(10)

In case of harmonic vibration in the fluid part, from (5), (9), (10) we obtain the following system (see formulaes $(11)_p$, $(12)_p$)

$$\Delta p_0(x_2, x_3) = \rho^f \left(\frac{\partial F_2^0}{\partial x_2} + \frac{\partial F_3^0}{\partial x_3} \right),\tag{11}$$

$$-\omega^2 u_j^0 = -\frac{1}{\rho^f} \frac{\partial p_0}{\partial x_j} + \nu i \omega \Delta u_j^0 + F_j^0(x_2, x_3), \quad j = 2, 3,$$
(12)

where $F_j(x_2, x_3) = e^{i\omega t} F_j^0(x_2, x_3)$. Transmission conditions (8), (4), conditions at infinity (2) and (3) have the following forms

$$-p_0^+(x_2) + p_0^-(x_2) = q_0(x_2), \quad x_2 \in]0, l[, \tag{13}$$

$$u_3^0(x_2,0) = w_0(x_2), \ u_2^0 = 0, \ x_2 \in]0, l[,$$
 (14)

$$p_0|_{|x|\to\infty} = p_0^{\infty}, \ u_j^0|_{|x|\to\infty} = O(1), \ j = 2, 3.$$
 (15)

After separating the real and imaginary parts in (12) we have

$$u_j^0 = \frac{1}{\omega^2 \rho^f} \frac{\partial p_0}{\partial x_j} - \frac{1}{\omega^2} F_j^0(x_2, x_3), \quad j = 2, 3,$$
(16)

$$\Delta u_j^0 = 0, \ \ j = 2, 3. \tag{17}$$

Therefore, taking into account (11),

$$-\frac{\partial}{\partial x_j} \left(\frac{\partial F_2^0}{\partial x_2} + \frac{\partial F_3^0}{\partial x_3} \right) + \Delta F_j^0 = 0, \quad j = 2, 3.$$
(18)

Therefore, taking into account (13),

$$-\frac{\partial}{\partial x_j} \left(\frac{\partial F_2^0}{\partial x_2} + \frac{\partial F_3^0}{\partial x_3} \right) + \Delta F_j^0 = 0, \quad j = 2, 3.$$
(19)

We can rewrite (19) in the following form

$$\frac{\partial}{\partial x_j} \left(\frac{\partial F_2^0}{\partial x_3} - \frac{\partial F_3^0}{\partial x_2} \right) = 0, \quad j = 2, 3,$$

i.e.,

$$\frac{\partial F_2^0(x_2, x_3)}{\partial x_3} - \frac{\partial F_3^0(x_2, x_3)}{\partial x_2} = \text{const},$$
(20)

The solution of the equation (11) under condition (13), (15), using formula (20), has the following form (see [6])

$$p_{0}(x_{2}, x_{3}) = -\frac{x_{3}}{2\pi} \int_{0}^{l} \frac{q_{0}(\xi_{2})d\xi_{2}}{(\xi_{2} - x_{2})^{2} + x_{3}^{2}} + \rho^{f} \int_{0}^{x_{2}} F_{2}^{0}(\xi_{2}, x_{3})d\xi_{2} + p_{0}^{\infty} - \rho^{f} A_{0}^{\infty},$$

$$(21)$$

where $A^{\infty} := A_0^{\infty} e^{i\omega t}$. Substituting (21) into (12), for u_2^0 and u_3^0 we obtain

$$u_2^0(x_2, x_3) = \frac{x_3}{\pi \omega^2 \rho^f} \int_0^l \frac{q_0(\xi_2)(\xi_2 - x_2)d\xi_2}{[(\xi_2 - x_2)^2 + x_3^2]^2},$$
(22)

$$u_{3}^{0} = \frac{1}{2\pi\omega^{2}\rho^{f}} \int_{0}^{l} \frac{q_{0}(\xi_{2})[x_{3}^{2} - (\xi_{2} - x_{2})^{2}]}{[(\xi_{2} - x_{2})^{2} + x_{3}^{2}]^{2}} d\xi_{2} + \frac{1}{\omega^{2}} \int_{0}^{x_{2}} \frac{\partial F_{2}^{0}}{\partial x_{3}} (\xi_{2}, x_{3}) d\xi_{2} - \frac{1}{\omega^{2}} F_{3}^{0}(x_{2}, x_{3}).$$

$$(23)$$

After consideration the limit of $u_2^0(x_2, x_3)$ when $x_3 \to 0, x_2 \in]0, l[$, we have

$$\begin{split} \lim_{x_3 \to 0} u_2^0(x_2, x_3) &= \frac{1}{2\pi\omega^2 \rho^f} \lim_{x_3 \to 0} x_3 \int_0^l q_0(\xi_2) \left(\frac{1}{(\xi_2 - x_2)^2 + x_3^2} \right)_{,\xi_2} d\xi_2 \\ &= \frac{1}{2\pi\omega^2 \rho^f} \lim_{x_3 \to 0} \left\{ \frac{x_3 q_0(l)}{(l - x_2)^2 + x_3^2} - \frac{x_3 q_0(0)}{x_2^2 + x_3^2} - x_3 \int_0^l \frac{q_0'(\xi_2)}{(\xi_2 - x_2)^2 + x_3^2} d\xi_2 \right\} \\ &= -\frac{1}{2\pi\omega^2 \rho^f} \lim_{x_3 \to 0} \int_0^l \frac{q_0'(\xi_2) (x_3 + (\xi_2 - x_2) - (\xi_2 - x_2))}{(\xi_2 - x_2)^2 + x_3^2} d\xi_2 \\ &= -\frac{1}{2\pi\omega^2 \rho^f} \lim_{x_3 \to 0} \left[\int_0^l \frac{q_0'(\xi_2) (x_3 + (\xi_2 - x_2))}{(\xi_2 - x_2)^2 + x_3^2} d\xi_2 - \int_0^l \frac{q_0'(\xi_2) (\xi_2 - x_2)}{(\xi_2 - x_2)^2 + x_3^2} d\xi_2 \right] \end{split}$$

$$= -\frac{1}{2\pi\omega^2\rho^f} \left[\int_0^l \frac{q_0'(\xi_2)}{\xi_2 - x_2} d\xi_2 - \int_0^l \frac{q_0'(\xi_2)}{\xi_2 - x_2} d\xi_2 \right] = 0.$$

The last expression means that transmission condition (14), for $u_2^0(x_2, x_3)$ is fullfiled. Let now consider the following limit, when $x_2 \in]0, l[$,

$$\lim_{x_{3}\to0} \int_{0}^{l} \frac{q_{0}(\xi_{2})[x_{3}^{2} - (\xi_{2} - x_{2})^{2}]}{[(\xi_{2} - x_{2})^{2} + x_{3}^{2}]^{2}} d\xi_{2} = \lim_{x_{3}\to0} \left\{ q_{0}(l) \frac{l - x_{2}}{(l - x_{2})^{2} + x_{3}^{2}} + q_{0}(0) \frac{x_{2}}{x_{2}^{2} + x_{3}^{2}} - \int_{0}^{l} \frac{q_{0}(\xi_{2})(\xi_{2} - x_{2})}{(\xi_{2} - x_{2})^{2} + x_{3}^{2}} d\xi_{2} \right\} = \lim_{x_{3}\to0} \left\{ q_{0}(l) \frac{l - x_{2}}{(l - x_{2})^{2} + x_{3}^{2}} + q_{0}(0) \frac{x_{2}}{x_{2}^{2} + x_{3}^{2}} - \int_{0}^{l} \frac{[q_{0}'(\xi_{2}) - q_{0}'(x_{2})](\xi_{2} - x_{2})}{(\xi_{2} - x_{2})^{2} + x_{3}^{2}} d\xi_{2} - \frac{q_{0}'(x_{2})}{2} \int_{0}^{l} \left\{ \ln\left[(\xi_{2} - x_{2})^{2} + x_{3}^{2} \right] \right\}_{\xi_{2}} d\xi_{2} \right\} = \lim_{x_{3}\to0} \left\{ q_{0}(l) \frac{l - x_{2}}{(l - x_{2})^{2} + x_{3}^{2}} + q_{0}(0) \frac{x_{2}}{x_{2}^{2} + x_{3}^{2}} - \frac{q_{0}'(x_{2})}{2} \ln \frac{(l - x_{2})^{2} + x_{3}^{2}}{x_{2}^{2} + x_{3}^{2}} - \int_{0}^{l} \frac{[q_{0}'(\xi_{2}) - q_{0}'(x_{2})](\xi_{2} - x_{2})}{(\xi_{2} - x_{2})^{2} + x_{3}^{2}} d\xi_{2} \right\}$$
(becouse of $q_{0}(l) = (l([0, 1]))$

 $= \frac{q_0(l)}{l-x_2} + \frac{q_0(0)}{x_2} - q_0'(x_2) \ln \frac{l-x_2}{x_2} - \int_0^l \frac{q_0(\xi_2) - q_0(x_2)}{\xi_2 - x_2} d\xi_2.$ On the other hand if we define the following supersingular integral of

On the other hand if we define the following supersingular integral as H'adamard integral, we analoguosly obtain

$$\int_{0}^{l} \frac{q_{0}(\xi_{2})}{(\xi_{2} - x_{2})^{2}} d\xi_{2} = \lim_{\varepsilon \to 0} \left(\int_{0}^{x_{2} - \varepsilon} \frac{q_{0}(\xi_{2})}{(\xi_{2} - x_{2})^{2}} d\xi_{2} + \int_{x_{2} + \varepsilon}^{l} \frac{q_{0}(\xi_{2})}{(\xi_{2} - x_{2})^{2}} d\xi_{2} + \frac{2q_{0}(x_{2})}{\varepsilon} \right)$$
$$= \frac{q_{0}(l)}{l - x_{2}} + \frac{q_{0}(0)}{x_{2}} - q_{0}'(x_{2}) \ln \frac{l - x_{2}}{x_{2}} - \int_{0}^{l} \frac{q_{0}'(\xi_{2}) - q_{0}'(x_{2})}{\xi_{2} - x_{2}} d\xi_{2}.$$

Hence, using transmission condition (14) for u_3^0 , we get the following expression

$$w_{0}(x_{2}) = -\frac{1}{2\pi\omega^{2}\rho^{f}} \int_{0}^{l} \frac{q_{0}(\xi_{2})}{(\xi_{2} - x_{2})^{2}} d\xi_{2} + \frac{1}{\omega^{2}} \int_{0}^{x_{2}} \frac{\partial F_{2}^{0}}{\partial x_{3}} (\xi_{2}, 0) d\xi_{2}$$
(24)
$$- \frac{1}{\omega^{2}} F_{3}^{0}(x_{2}, 0), \quad x_{2} \in]0, l[,$$

where the supersingular integral on the right hand side we define as H'adamard integral (see [9], [10]).

For the diffection we have the following equation (compear with $(9)_p$ from [1])

$$\left(h^{3}(x_{2})w_{0}''(x_{2})\right)'' = q_{0}(x_{2}) + 2\omega^{2}\rho^{s}h(x_{2})w_{0}(x_{2}), \qquad (25)$$

where ρ^s is a density of the plate. This equation we solve under boundary conditions giving in [1] (see this issue), Problems 1_p - 10_p . In [7] and [8] is shown that equation (25) cab be reduced to the integral equation with symmetric positive definite kernel, and it solution has the following form

$$w_{o}(x_{2}) = \int_{0}^{l} K(x_{2},\xi)q_{0}(\xi)d\xi + \omega^{2} \int_{0}^{l} \left(\int_{0}^{l} \Gamma(x_{2},\eta,\lambda)g(\eta)K(\eta,\xi)d\eta\right)q_{0}(\xi)d\xi$$

:=
$$\int_{0}^{l} K_{1}(x_{2},\xi)q_{0}(\xi)d\xi,$$
 (26)

where $\Gamma(x_2,\xi,\lambda)$ is a resolvent of the symmetric kernel $K(x_2,\eta)\sqrt{g(x_2)g(\eta)}$ (for the explicit form of $K(x_2,\eta)$ (see [7], [8])). Kx_2,ξ is a continious function with respect to x_2 and ξ , and it is defined from the equation $(9)_p$ and depends on Problems 1_p - 10_p .

Substituting (24) into (26), for $q_0(x_2)$ we obtain the following supersingular integral equation

$$\int_{0}^{l} \frac{q_{0}(\xi_{2})}{(\xi_{2} - x_{2})^{2}} d\xi_{2} + 2\pi\omega^{2}\rho^{f} \int_{0}^{l} K_{1}(x_{2}, \xi_{2})q_{0}(\xi_{2})d\xi_{2}$$
$$= 2\pi\rho^{f} \left[\int_{0}^{x_{2}} \frac{\partial F_{2}}{\partial x_{3}}(\xi_{2}, 0)d\xi_{2} + F_{3}(0, 0) - F_{3}^{0}(x_{2}, 0)\right] =: f(x_{2}).$$
(27)

We will find approximate solution of (27) using the method of solving given in books [9], [10] for $q'_0(x_2) := (dq_0(x_2)/dx_2) \in H([0, l])$.

Let divide interval [0, l] into N parts as follows

$$y'_N := \frac{lk}{N}, \quad k = \overline{0, N}, \quad y_k := \frac{lk}{N} + \frac{l}{2N}, \quad k = \overline{0, N-1},$$
$$q_{0N} := (q_0(y_0), \dots, q_0(y_{N_1})),$$

we will call q_{0N} approximate solution of (27). For q_{0N} we get the following system of linear equations

$$-\frac{4N}{l}q_{0}(y_{i}) - \sum_{\substack{j=0\\j\neq i}}^{N-1}q_{0}(y_{j}) \left[\frac{1}{y_{j+i}' - y_{i}} - \frac{1}{y_{j}' - y_{i}}\right] + \frac{2\pi\omega^{2}\rho^{f}l}{N} \sum_{j=0}^{N-1} K_{1}(y_{i}, y_{j})q_{0}(y_{j}) = f(y_{i}), \quad i = \overline{0, N-1}.$$
(28)

It is well-known (see [10]) that the determinant of the system (28) is not zero. Therefore, (28) is uniquely solvable.

Now, we have to estimate the error of the approximate solution of the equation (27). Let us denote by q_0^* the solution of (27), by q_{0N}^* the solution of (28) and let \hat{q}_{0N}^* be a projection of q_0^* on y_k . Further, we obtain

$$\begin{aligned} -\frac{4N}{l} \left(q_{0N}^*(y_i) - \hat{q}_{0N}^*(y_i) \right) - \sum_{\substack{j=0\\j\neq i}}^{N-1} \left\{ q_{0N}^*(y_j) - \hat{q}_{0N}^*(y_j) \right\} \left\{ \frac{1}{y_{j+i}' - y_i} - \frac{1}{y_j' - y_i} \right\} \\ &= \left| \int_0^l \frac{q_0^*(\xi)}{(\xi - y_i)^2} d\xi - \frac{4N}{l} \hat{q}_{0N}^*(y_i) + \sum_{\substack{j=0\\j\neq i}}^{N-1} \hat{q}_{0N}^*(y_j) \left\{ \frac{1}{y_{j+i}' - y_i} - \frac{1}{y_j' - y_i} \right\} \right| \\ &\leq \left| \int_{y_i'}^{y_{i+1}'} \frac{q_0^*(\xi) - q_0^*(y_i)}{(\xi - y_i)^2} \right| + \sum_{\substack{j=0\\j\neq i}}^{N-1} \left| \int_{y_i'}^{y_{i+1}'} \frac{q_0^*(\xi) - q_0^*(y_i)}{(\xi - y_j)^2} d\xi \right| =: I_1 + I_2. \end{aligned}$$

Therefore, since $q'_0(x_2) \in H([0, l])$, we have that there exist A = const > 0, and $\alpha_1 = \text{const}, 0 < \alpha_1 < 1$ such that

$$|q_0'(y_1) - q_0'(y_2)| \le A|y_1 - y_2|^{\alpha_1}.$$

Using the following expression

$$\int_{y'_i}^{y'_{i+1}} \frac{d\xi}{\xi - y_i} = \ln|\xi - y_i|_{y'_i}^{y'_{i+1}} = \ln\frac{l/(2N)}{l/(2N)} = 0,$$

we obtain

$$I_{1} = \left| \int_{y_{i}'}^{y_{i+1}'} \frac{q_{0}^{*}(\xi) - q_{0}^{*}(y_{i}) - (\xi - y_{i}) \left\{ \frac{dq_{0}^{*}(\xi)}{d\xi} |_{\xi = y_{i}} \right\}}{(\xi - y_{i})^{2}} d\xi \right|$$
$$= \left| \int_{y_{i}'}^{y_{i+1}'} \frac{dq_{0}^{*}(\xi)}{d\xi} - \frac{dq_{0}^{*}(\xi)}{d\xi} |_{\xi = y_{i}}}{\xi - y_{i}} d\xi \right| \leq A \left(\frac{2N}{l} \right)^{-\alpha_{1}}.$$
(29)

Analogously, we get

$$I_2 \le A(N-1) \left(\frac{2N}{l}\right)^{-\alpha_1}.$$
(30)

From (29) and (30) we obtain that the error of this method might be too large. For getting the most better results instead of the system (28) we consider the following

system

$$a_{ii}q_0(y_i) - \sum_{j=0}^{N-1} q_0(y_j) \left[\frac{1}{y'_{j+i} - y_i} - \frac{1}{y'_j - y_i} \right] + \frac{2\pi\omega^2\rho^f l}{N} \sum_{j=0}^{N-1} K_1(y_i, y_j)q_0(y_j) = f(y_i), \quad i = \overline{0, N-1}.$$
(31)

where

$$a_{ii} := -\frac{4N}{l} \int_{\Delta_{ii}} \frac{d\xi}{(\xi - y_i)^2}, \quad \Delta_{ii} := [0, l] \cap \left[y'_i - \frac{n}{N}, y'_{i+1} + \frac{n}{N} \right],$$
$$n := \sqrt{N} \quad \sum'_{i} := \sum_{\substack{j=0\\ j \neq i-1, \ i, \ i+1}}^{N-1}.$$

After repeating above calculation we get

$$|q_0^* - q_{0N}^*| \le A\left(\frac{2n}{l}\right)^{-\alpha_1},$$

where q_0^* and q_{0N}^* are the solutions of the equations (27) and (31) respectively.

After calculating q_{0N} , from (19) and (24) we get approximate expressions for $p_0(x_2, x_3)$ and $w_0(x_2)$, as follows

$$p_0(x_2, x_3) = -\frac{x_3 l}{2\pi N} \sum_{j=0}^{N-1} \frac{q_0(y_j)}{(y_j - x_2)^2 + x_3^2} + \rho^f \int_0^{x_2} F_2(\xi_2, x_3) d\xi_2 + p_0^\infty + A_0^\infty, \quad (x_2, x_3) \in \Omega^f;$$

$$w_{0}(y_{i}) = -\frac{1}{2\pi\omega^{2}\rho^{f}} \left\{ a_{ii}q_{0}(y_{i}) - \sum_{j=0}^{N-1} q_{0}(y_{j}) \left[\frac{1}{y_{j+i}' - y_{i}} - \frac{1}{y_{j}' - y_{i}} \right] \right\} + \frac{1}{\omega^{2}} \left(\int_{0}^{y_{i}} \frac{\partial F_{2}}{\partial x_{3}}(\xi_{2}, 0) d\xi_{2} - F_{3}^{0}(y_{i}, 0) \right), \quad x_{2} \in]0, l[,$$

Let us denote by $\bar{w}_0(y_i)$ the projection of w_0 on y_i and let estimate the error of the approximate solution of deflection. If we repeat the above calculation we get

$$\left|\bar{w}_{0}(y_{i})-w_{0}(y_{i})\right| \leq \frac{A}{2\rho^{f}\pi\omega^{2}}\left(\frac{2n}{l}\right)^{-\alpha_{1}}.$$

Further, after Substituting $p_0(x_2, x_3)$ in (16) we obtain $u_j^0(x_2, x_3)$.

$$u_3^0(x_2, x_3) = -\frac{1}{2\pi N\omega^2 \rho^f} \sum_{j=0}^{N-1} \frac{q_0(y_j)(x_3^2 - (y_j - x_2)^2)}{[(y_j - x_2)^2 + x_3^2]^2}$$

$$+\frac{1}{\omega^2} \left(\int_0^{x_2} \frac{\partial F_2}{\partial x_3} (\xi_2, x_3) d\xi_2 - F_3^0(x_2, x_3) \right),$$
$$u_2^0(x_2, x_3) = \frac{x_3 l}{\pi N \omega^2 \rho^f} \sum_{j=0}^{N-1} \frac{q_0(y_j)(y_j - x_2)}{[(y_j - x_2)^2 + x_3^2]^2}, \quad (x_2, x_3) \in \Omega^f.$$

Proposition In case of the harmonic vibration of the plate with two cusped edges under action of the incompressible viscous fluid [i.e., equations (11), (12), (25) under transmission conditions (13), (14) conditions at infinity (15) and BCs (see Problems 1_p- 10_p in[1])] all quantities can be expressed by lateral load $(q_0(x_2))$ [see formulas (21)-(24)] and for the calculating of $q_0(x_2)$ we get (27) type super singular integral equation, where supersingular integral is defined as H'adamard integral. This equation has solution in class $q'_0 \in H([0, l])$.

REFERENCES

1. Chinchaladze N., A Cusped Elastic Plate-Ideal Incompressible Fluid Interaction Problem. Rep. of the Semminars of I.Vekua Institute of Applied Math., Vol. 28 (2002), pp.29-37.

2. Loitsianskii L., Mechanics of Fluid and Gas. Moscow, 1960 (in Russian).

3. Wol'mir, A., Shells on the Flow Fluid and Gas. Problems of Hydro-elasticity, Moscow, 1981 (in Russian).

4. Solonikov V.A., On Quasistationary Approximation in the Problem of Motion of a Capillary Drop. Preprint 7/98, Pré-publicações de Matemática, Universidade de Lisboa, 1998.

6. Muskhelishvili N. Singular Integral Equations. Noordhoff, 1953.

7. Chinchaladze N., Vibration of the Plate with Two Cusped Edges. Tbiliss. Gos. Univ. Inst. Prikl. Mat. Trudy, vol. 52 (2002), 30-48.

8. Chinchaladze, N., Jaiani, G., On a Cusped Elastic Solid-Fluid Interaction Problem. Applied Mathematics and Informatics, vol. 6, No.2 (2001), 25-64.

9. Belotserkovskii, S.M., Lifanov, I.K., Numerical Methods for Singular Integral Equations and Their Applications to Aerodynamics, Theory of Elasticity and Electrodynamics. Nauka, Moscow, 1985 (in Russian).

10. Boikov, I.V., Dobrynin, N.F., Domnin, L., Approximation Methods for Calculating of H'adamard Integral Equations, Penza, 1998 (in Russian).